o (o2}
o —
n o
S N
z| = 3
- % “ ™ % @
- [«
©)] 3
&) ElE|™
Z 5 g5
O3z sls|als
xs 3|5 |c|d8
= m -
<3 o ERES]
=8 E als
7 4 a| X !
_nlu gl ¢ 2 cl e
x=2gl ¢ | N 2| ®
= Z e ) Q
) W =) N E g
Ll O = [ D >
kel o e
30| & | ¢ g%
0Qsg| & e
O @ g o .m £
S=x:e o m g s m
k= o &l s
SO ¢ |1 gl g
pWEl T | s ll
()] p c o)
N=§| 2| 2| Z
NOs| & © N =
= 2 © E] 8
N L3 s 9] ] 2
- <) o ad 3
N o — Sl x| &
D 3 M S (@] M o] 8
x| 3 o o (3(0|H
x 8 ° 2 - Z1E|lR
> . o = ol &
o & 8 ] w |2
© 3 3 ElN|[~
2 Qa o S c
@) 3 o R EINI S
© N Il N| O
DUn 4 o o £le| s
_— ©
m 2 s
3 N ¥ || 8|8
n c ol x| e
¢ 5 g2 |2|5|¢
© o
2 z & |2|al<
o [} © ™~ © Te) < ™ N — o )} © ~ © o) < ™ I — o
™ N N o N o N N N N N — — — — — — — — — —
- — — — — — - - - — - — — — — — - - - — - %
} } } } } } AR A F 0058 O ¥
2521 <+ SS'veT o I 0008
67'72T + €5'72T o I 0052
A 9'veT <+ 25'veT o E I 0002
06'29T+T Wy o =3
vg z Ameud pzelz mN ™ 3
o n
€7'veT =+ 0S'72T o I 0059
Tr'veT + 67421 o - 0009
8e'veT <+ L¥'v2T o I 00'ss
9L TST+T W _u
v4 z Ams| pzelz I_N
i SEYeT 4 9 vTT o I 0005
TEY2T 4 SV I 00sy
12v2T < O'v2T o I 0007
6ELET+T W
vg z Ameud pzelz mN P 28592
rO_u vZver 4 1872t - T331|1 oose -
122l + vEveT o I 000g
8G'LTT+T W _U
vd z Ama)| pzelz I—N
9T'veT <+ TEVZT I o0'sz
| 80'v¢T <+ 92'72T I 000z
/ 66'€2T <+ 9T'v2T o I 00'ST
S 06'€2T ++ 20'72T I 00'0T
+
v4a z Ama) pzelz I—N /’
¥i'GOT+T W
aay z Ameud pzelz / T8°€2T + L6°€2T A - 00°G0
o
e zLezT 4 18°€2T 4 O 2
.3 -
o
—
£9°62T < 82°€2T o I 0056
/ €5°€2T < 89°€2T o I 0006
7' €2T -+ 85°€2T I 00's8
-
4“ /
© . GE'ETT < 67°€2T o I 0008
~ 25°920+T Wiy
mw vd z Ama) pzelz I—N £
N
M 92°€2T 1 6€°€2T I I 0052
ST'€2T <+ 62°€2T I 0002
G0'€2T <+ 8T°€2T - 0059
9T'650+T W _U bt 76'2¢T - L0°€2T I 0009
v4 z Ama| pzelz I—N /
6G'950+T W _u
agy z Ameld pzelz QN ’
~ ¥8'22T 4 26'22T I 00'ss
o
-
o
€1°22T < 98'22T o I 0005
/ €9'22T <+ 92°22T I 00'sy o
€522T <+ 59'22T I 000r
9T'9E0+T Wi _u /
z Am3) pzelz I_
va | Pzt Z | 2r'zet + vS'2eT o I oo'se
ﬁ/ 2€22T 1+ vi'2eT o I 000g
’ 12°22T + v€'22T I 00'sz
02°€20+T W _U
agy z Ameud pzelz ﬂ—N /
0T'22T + €2'22T I 000z
WJ_ | 00'22T + £1°22T I 00'ST
[{e]
—
o
4
s 06Tt 1+ €02214 S E ||=283g |- 000T o
s} B ||58%
o S
o i ™
18'T2T =+ €6'T2T I 0050 o
- 0050 _A|n
o £8'T00+T Ev__u L
_Aln agy z Ameud pzelz mN ’ 8
o
TLT2T 4 28°'T2T O =
E C ._hDF)___/._ | — /’ H.
o~ Ameid “uist isndm ﬂ—>> ; o
o 87'766+0 W 1Z | T9'T2T = 2L'T2T A I 00'S6 o
<C gy z Ams) pzelz <C
— —
L L
/ 0S'T2T + 29'12T I 0006 o
H 0¥’ 12T + 25121 I 00's8
70'286+0 W
agy z Ama| pzelz @ j
TET2T + Y7 12T o I 0008
Pi'GL6+0 W
Awma) “foud 3sndm E Y2 12T 4~ 98'T2T & - 00'S.
N ©
5 ©
B 5
- / 9T'T2T + 62'12T I 0002
60'T2T < T2’ 12T o I 0059
SL'T96+0 EV__U
agy z Ameud pzelz mN ﬂ
B T0'T2T 4 €T°T2T - 0009
7€'956+0 Ev__u
agy z Ama| pzelz I—N _
/ €6'02T < 90'12T I 00'ss
/ 98'02T + 86°02T I 0005
62°02T <+ 16°02T I 005y o
£
<
0
2,021 <+ ¥8'02T m I 000r
-
61'9€6+0 W
agy z Ameud pzelz &N =~ ﬂ/
D G9'02T + £2°02T I oo'se o
<
) /
20°0£6+0 W
fway foxdsndm | A / 85°02T + 69°02T - 000e
TL'E26+0 W | 15°02T =+ 29°02T I o0'sz
aay z Ameud pzelz QN /
/_/ S7'02T 4 S§5°02T o I 000z
5 8€°02T < L¥'02T o I 00'ST
ﬁ 0€'02T 4 0v'02T I 00°0T
€2°02T < £€°02T E I 0050
©o
©
(3]
19°'668+0 Wb // 4 3
. + | N -+ N - (o2}
aa z Ama) pzelz I—N 9r0et 7 Leoet O S
9€'G68+0 W)
agy z Ameud pzelz mN / 60°0ZT + 02°02T - 0066
16'888+0 W R 20°02T 4+ €T°02T - 0006
agy z Ameud pzelz QN ™ #
15'988+0 W | -
agy z Ama| pzelz I_N _
] H G6'6TT < 90°02T I 00's8 -
/ 88'6TT + 66'6TT I 0008
,/ 18'6TT + €6'6TT o I 00'G.
ﬁ GL'6TT < 98'6TT o I 0002
\j 69'6TT < 62°6TT o I 0059
G2'298+0 W :
agy z Ama) u%.ﬁ@ :
29°6TT <+ €L°6TT I 0009
02'558+0 W / ) ) ]
agy z Ameud pzelz QN / 9G'6TT + L96TT - 00°GS -
// 0S'6TT -+ 09'6TT - I 0005
77'6TT -+ ¥S'6TT I 00'sy
TP'Zr8+0 W :
Ama| “fosd 3sndm &>> :
8€'6TT + 87'6TT o I 0007
92°L€8+0 W :
gy z Ama) pzelz 1Z :
T€6TT + 27'6TT o £ I oo'se
-
8E'2E8+0 W ’ o
aay z Ame) pzelz I—N ; N
1
SZ'6TT + SE'6TT “|  F ooog
N : 5| &
) 6T6TT 1 626TTH & I 00'sz
H I
% i
)
6€°028+0 W
agyl z Ameud pzelz dZ /, ET'6TT + £2°6TT I 000z
/ L0'6TT 4 LT'6TT I 00'ST
T0'6TT 4 OT'6TT o I 00°0T
70°508+0 W
aa z Amoy pzeiz| 12 , G6'8TT < ¥0'6TT - - 0050
o
79'66.+0 WH | ‘81T -4 86'8TT 4 3
aagy z Ameud pzelz mN : 68'8TT + 86'8TT O g
// 28'8TT < T6'8TT I 0056
9/°8TT + S8'8TT 285 x| 0006 ~
gyr
£2°G8.+0 W
agy z Ama) pzelz 12 5 69'8TT + 62°8TT I 00's8
sm/ €9'8TT < 22'8TT I 0008
,/ 95'8TT < S9'8TT o I 00'G.
, 67'8TT < 85'8TT I 0002
, 27811 < TS'8TT I 0059
BN GE'8TT + ¥7'8TT o I 0009
o
~
€8'GG/+0 W) HE -
Ama) “fod sndm ﬂ 82'8TT + LE'8TT - L 0o0'ss |
T0'€GL+0 EV__U
agy z Ameud pzelz QN
TZ'TSL+0 W 3
agy z Ams| pzelz N TZ'8TT 4 0€'8TT - 0005 o
T0'0G2+0 Ev__U
agy z Ameld pzelz QN /
, ¥T'8TT - £2'8TT I 00sy
10'8TT <+ 9T'8TT I 0007
00'8TT 4 OT'STT I oo'se o
5
©
LL0EL+0 W @ 5
agy z Ameud pzelz S6'LTT -4 SO'8TT o 4 - 00°0€ +
¥9'22L+0 EV__U
agy z Ams| pzelz I—N
68'LTT < 00'8TT I 00'sz
l/l ,
-~
e : v8LTT 4 S6'4TT L 000z -
: 8/ LTT 4 06'LTT I 00'ST
: €L /TT 4 S8'LTT I 00°0T
49°£0240 W A 19°/TT 4 08'LTT I 0050
agX z Ama) pzelz 12 /
o
09°'2TT 4 22271 O S
o
€5 /TT 4+ S9'LTT I 0056
N
< . . .
< GYLTT 4 85LTT o I 0006 o
- ,
7€'989+0 W _u
agy z Ameud pzelz QN _ ) ) .
: 8€/TT 4~ TG'LTT I 00's8
: TELTT 4 b7 LTT I 0008
LSL9+0 UDY Vm €T+ LETT I 00's2
Ama) *foid ysndm E /
00°029+0 W . . .
agy 7 Avead pzeiz| A Z t LTLTT 4 TELTT - 0002
/’ TTLTT 4 G2 LTT A I 0059
SOLTT 4 6T'LTT I 0009
16'G59+0 W ,
88X Z Ama) Ea._N_Ul_N | 00'LTT + €T°2TT L 00'ss A
=~
2
9T'059+0 Wi :
gl z Amoy pzelz| 12, = ¥6'9TT -+ 80°2TT L 0005
68'9TT < 20'LTT I 00sy o
€8'9TT < 96'9TT I 000r
12°9TT < 06'9TT o I oo'se o
£9°0£9+0 W 1Z
g8 z Ama) pzelz 2L9TT 4 ¥8'9TT o L 000g
87'929+0 EV_D
aay z Ameud pzelz &N
19°9TT < 62°9TT I 00'sz
£
N
<
<
: i
: 29°9TT 4 G2'9TT 5 I 000z
: 85°9TT < TL'9TT I 00'ST
¥S5'9TT -+ 29°9TT I 00'0T
ol =
o| € 26°509+0 W] Z ’ ’
= s
Sla 88 z Ama) pzelz | 6Y°9TT = £9°9TT - 0050
2| < .
m e M. o
£€6'665+0 W 4] . . =1
K. w g 2 Ame| pzelz 1Z = G'9TT -+ 85°9TT O M
83|12
|
©| .. 0%'9TT = ¥S'9TT I 0056
3|
a s
S . . .
S|l © 9€'9TT < 05'9TT o I 0006
c
T2
t—
£[Q d ’
~ Dn.v 2€'9TT = 9V'9TT I oo'se
_ Ti'2Z8G+0 W] D _
L nmu Amaj “fosd 3sndm m>> ’
O N £2:085+0 uny \_ LZ9TT 4+ Tv'9TT - - 0008
[n'd Dnzlv agy z Ameud pzelz mN
[a
$T'92G+0 WX 1Z
Ama) pzel:
884 2 /md1 pz .N_U ! €2°9TT 4 26'9TT L 005z
8T'9TT + GE'9TT I 0002
9T'9TT + €€°9TT I 0059
ZT9TT 4+ TE'9TT - 0009
80°9TT + 82'9TT I 00'ss
80°9TT < 92'9TT o I 0005
mM
T6°975+0 W
agy z Amead UNm_N@ <
© 80°9TT < ¥Z'9TT o £ I 00sy
~
o
<
©
~ I
N L0°9TT <+ 22'9TT I o0or
0 o
83
+ <
o . . .
S0'9TT + 02'9TT I oo'se
d6e6r
26'TEG+0 W
Ameid “fosd 3sndm >> . . .
19'825+0 WY €0°9TT + 8T'9TT I 00'0g
N Ameid “[oid 3sndm E [ N
M PT'225+0 Wpf E w
= Amaj “fosd 1sndm I T0'9TT 4 9T'9TT H I o0'se [
L L
M 10°0TT - $T°9TT L 000z | M
22°8TG+0 W
_A|n Ama| “fosd 1sndm @ _A|n
L 98'9TG+0 Wy ) ) ) L
va z Aoy pzeiz | 12 €0°9TT + ZT°9TT L 00'sT -
20'9TT < 0T'9TT - 00°0T
N
<
w T0°9TT 4 80°9TT - L 00’50 |
o
. . o
6.°867+0 W 009TT + L0'9TT o O D
Ama) “[oid ysndm m>> °
—— 66'STT < S0'9TT i I 0056
Amaj “foid 1sndm E geas
SE8E
(2]
I3\ 66'STT < S0'9TT I 0006
—
(2]
<
+
o . . .
00°9TT + 20°9TT I 00's8
~N
™
~
GG'6LY+0 W =) 20'9TT = 60°9TT I 0008
aay z Ame| pzelz I—N T
€0°9TT + 2T'9TT I 0052
G0'9TT + ¥T'9TT o - 0002
80°9TT + 8T'9TT - 0059
ZT9TT < 22'9TT o I 0009
£
LT'9TT < 92'9TT o & I 00'ss
ST'ESH+0 W _U =
aay z Ameld pzelz mN m
TZ'9TT = 0£°9TT I 0005
92'9TT + ¥€'9TT o I 005y o
0€'9TT + 8€°9TT I 000r
Y0 YEP+0 W
agy z Ameud pzelz mN
v€'9TT -+ €7'9TT - I oo'se
6T'EEY+0 W)
agy z Ams| pzelz I—N
8240 W 6€'9TT < 87'9TT o I 000g
agy z Ama| pzelz I—N
77'9TT -+ ¥S'9TT I 00’5z
67°9TT < 09'9TT I 000z
6T'8TH+0 Ev__u
agy z Ama| pzelz I_N
GS'OTT + 99'9TT I 00'ST
GLOTH+0 W E
Ama) “[oid ysndm 09°9TT 4 2L9TT - 00°0T +
G9'9TT 4 82°9TT o c I 0050
o
(o2}
g
n 8
0L°9TT + ¥8'9TT - 3
o
9.°9TT <+ T6°9TT I 00's6
3 €8'9TT + £6'9TT - L 0006 -
-
o
™
+
© €6'9TT + 90°2TT - L 0058 -
N . . .
N €0°LTT 4+ ¥T'LTT I 0008
—
1
ETLTT 4 €2°LTT I 00'G.
Sb'2LE+0 Ev__U \
agy z Ameud pzelz mN ‘
_\_ TZLTT 4 2€°LTT - 000L -
GZLTT 4 6€'LTT o I 0059
N 0€'LTT 4 ¥¥'2TT I 0009
Y2'8GE+0 W x|
agy z Ama| pzelz I—N —
|
vELTT + 61°LTT I 00'ss
v LTT 4 S9'LTT I 0005
89°EVE+0 WD NG 87 LTT 4 85'LTT o I 00'sy o
agy z Ama| pzelz I—N ﬂ
S
! T52TT =4 09°2TT L ooov -
€5 LTT 4 €9'LTT I oo'se
< G5 LTT 4+ S9'LTT I o0'0g
0
®
o
| 95 /TT 4+ £9'2TT I 00'sz
69'£11='Z4 95 /TT < 69'LTT o I 000z
— G2'61E+0 d
%. 2 9S/TT 4 0L'2TT o I 00'ST
~N N
<
< 3.
o Q
° 8~ g 95/ TT + TLLTT 4 © L ooot
53 QQ L o 85
2 C09Om3 2 [|$58¢
<N Lo €5'G0E+0 W 7 P |
m Q 3 agy z Ama) pzelz N GG LTT 4 TL'2TT o - 00'G0
o=z S
8g 3
©
83 . . ]
s N GG LTT 4 0L°LTT o
o
| 89'L11 I='
06'G62+0-1dAd YSLTT - 89'LTT o - 00'G6
~ €5 LTT 4+ 99'21T I 0006
=
<
o
TSLTT 4+ ¥9°LTT o I 00's8
0S'LTT + 29'LTT I 0008
87 LTT < 65'LTT o I 00'G. o
LE'TLZ+0 Ev__u
agy z Ama| pzelz I—N
9F LTT 4 95'LTT o I 0002
SPLTT 4+ ¥SLTT I 0059
N
<
n
o SV LTT 4TS LTT I 0009
0v'LTT + 8v°LTT I 00'ss
8€'15Z+0 EV_D
aay z Ame| pzelz I—N
LE€TT 4+ 9% LTT I 0005
YELTT - €' LTT I 00'sy o
TELTT 4 07’ LTT o I 0007
12 /TT 4 98 LTT I oo'se
Y2 LTT 4 €€°LTT I o0'0g
N 3
o @
88'G2Z+0 W) Z ~ 3
88 z Ama) pzelz o 0z2TT 4 62271 4 4} oosz A
ITITT 4 92'2TT o I 000z
ETLTT 4 22 LTT I 00'ST
OT'LTT 4 6T°LTT I 00°0T
90°LTT 4 ST'LTT I 0050
o
€0°LTT 4 21211 O N
o
00'LTT + 80°2TT I 0056
OF'T6T+0 Ev__u
agy z Ama| pzelz I—N
96'9TT <+ S0'LTT I 0006
N
@ 26'9TT < TO'2TT I 00's8
o
£6°8/T+0 W 98'9TT < 86'9TT I 0008
agy z Ama| pzelz I—N
%
% 08'9TT 4 ¥6'9TT sear (b 006
~
-
+
o
GL'9TT <+ T6°9TT I 0002
72°9TT + 88'9TT - I 0059
72°9TT + ¥8'9TT I 0009
69'9TT < 62°9TT I 00'ss
N
o
=]
— ¥9'9TT -+ ¥2'9TT I 0005
65'9TT <+ 69°9TT I 00sy o
¥5'9TT -+ S9'9TT - I 0007
N
o
~
o
87'9TT < T9'9TT I oo'se o
—
0
[}
«@ S'9TT -+ 85°9TT I 00°0€ -
T
o
Zr9TT < SS'9TT I 00'sz
0%'9TT + 25'9TT - I 000z
L€9TT < 67°9TT o I 00'ST
N
[09]
N
o v€'9TT -+ 9v'9TT - I 00°0T
TE€9TT + EV'9TT A I 0050
o
62°9TT + T¥'9TT - O 2
o
92'9TT + 8€'9TT I 0056
0
™ €2°9TT < vE'9TT o I 0006
—
o £
2 2
o 3
6T'9TT < 0£'9TT o o I 00's8
-
=N
~
@ ST'OTT 4 92'9TT I 0008
o
TTOTT 4 T2'9TT o I 00's.
G2'0L0+0 W
aay z Ams| pzelz I—N 90°9TT + LT'9TT o - 00°0L o
16'STT < 80°9TT I 0059
88'GTT < 86'GTT I 0009
08'GTT + 68'STT - I 00'ss
=
o TL'GTT =+ 08'STT o I 0005
@
«—
29'GTT 4 TL'STT I 00sy
87°070+0 W
aay z Ame| pzelz I—N €G°GTT 4 29'STT o - 0007 —
7¥'GTT -+ €5°STT I oo'se
o GE'STT 4+ ¥P'GTT o I 00'0g
0Z'STT + 82'STT I 00'sz
¥T'220+0 W //
agy z Ama| UNm_N@ //
¥0'STT -+ OT'STT I 000z
= &
oM. 88'VTT < €6'71T o 9 I 00'ST
A i
ZLYIT 4+ SLYTT - 00°0T
95'¥TT <+ 8S'¥TT o - 0050
o
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 O m
r T T T T T T T T T T T T T T T ¥
o o2} © ™~ © Te) < ™ N 5 o o © ~ © 0 < ™ N - o =
™ N N o N N N N N N N — — — — — — — — — —
— — — — — — — — — — — — — — — — — — — — —
(wrduw) yNa3Zd
..le o) o
SD1le| €
3|2/¢8|9
o | = o M .ﬂ
n - —
|l g | X |25
) - f— Q
c e L4
e a - — u m
S|2|e|=|0
d o -_— - — “
N Z| (o |8 |X
X o | 5|9
= o
O | £ | =
a|d|™




